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Note : This paper is of sixty (60) marks containing three 

(3) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa dk 

p;u djuk gSA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe the meaning, scope and significance of 

Comparative Politics. 

rqyukRed jktuhfrd ds vFkZ] {ks= o mi;ksfxrk dk o.kZu 

dhft,A 

2. “American Senate is the most powerful Second 

Chamber of the World.” Explain it. 

ßvessfjdh lhusV fo’o dk lcls ‘kfDr’kkyh f}rh; lnu 

gSAÞ O;k[;k dhft,A 

3. “The King reigns, but does not govern.” Describe the 

powers and real position of the British king in the light 

of above statement. 

ßjktk jkT; djrk gS ‘kklu ughaAÞ bl dFku ds vkyksd essa 

baXyS.M esa jktk dh ‘kfDr;k¡ ,oa okLrfod fLFkfr dh O;k[;k 

dhft,A 

4. “American Constitution is based on the theory of 

separation of powers and checks and balance.” 

Explain. 

ßvesfjdh lafo/kku ‘kfDr i`FkDdj.k o fu;a=.k ,oa larqyu dss 

fl)kUr ij vk/kkfjr gSAÞ O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Discuss the tools of direct democracy in Switzerland. 

fLoV~tjyS.M esa izR;{k iztkra= ds midj.kksas dh O;k[;k 

dhft,A 

2. Explain the position of Swiss Federal Assembly. 

fLol la?kh; lHkk dh fLFkfr dh O;k[;k dhft,A 

3. Explain the Amending process of American 

Constitution. 

vesfjdh lafo/kku dh la’kks/ku izfØ;k dh O;k[;k dhft,A 

4. State the features of federal system. 

la?kkRed O;oLFkk dh fo’ks”krkvksa dks crkb,A 

5. State the merits and demerits of British party system. 

fczfV’k nyh; O;oLFkk ds xq.k&voxq.kksa dks le>kb,A 

6. Judicial review is the basis of American political 

system. Discuss. 

U;kf;d iqu% voyksdu vesfjdk ds jktuhfrd thou dk 

vk/kkj gSA foospuk dhft,A 

7. Discuss the main features of Swiss Federal Council. 

fLoV~tjyS.M dh dk;Zikfydk dh izeq[k fo’ks”krkvksas dk o.kZu 

dhft,A 

8. Explain the various types of Constitution. 

lafo/kku ds fofo/k izdkjksa dh O;k[;k dhft,A 



 [ 4 ] PS–03 

A-94 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. England has rigid constitution. (True/False) 

baXyS.M dk lafo/kku dBksj gSA   ¼lR;@vlR;½ 

2. Name of the country having most flexible Constitution.  

lokZf/kd yphys lafo/kku okys ns’k dk uke crkb,A 

3. Name the American Legislature. 

vesfjdh O;oLFkkfidk dk uke crkb,A 

4. Theory of separation of powers is adopted by the 

Constitution of which county ? 

(a) USA 

(b) U. K. 

(c) Russia  

(d) France 

‘kfDr i`FkDdj.k ds lafo/kku dks fdl ns’k ds lafo/kku esa 

viuk;k x;k \ 

¼v½ vesfjdk 

¼c½ baXyS.M 

¼l½ :l 

¼n½ Ýkal 
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5. What is the tenure of American President ? 

vesfjdh jk”Vªifr dk dk;Zdky fdruk gksrk gS \ 

6. Which Constitution is largely based on conventions ? 

fdl ns’k dk lafo/kku vf/kdka’kr% vfHkle;ksa ij vk/kkfjr  

gS \ 

7. Plural Executive is found in which country ? 

cgqy dk;Zikfydk fdl ns’k esas ik;h tkrh gS \ 

8. Supremacy of Parliament is a characteristic of  : 

(a) American Constitution 

(b) Russian Constitution 

(c) British Constitution 

(d) Swiss Constitution 

lalnh; loksZPprk ,d fo’ks”krk gS % 

¼v½ vesfjdh lafo/kku dh 

¼c½ :lh lafo/kku dh 

¼l½ fczfV’k lafo/kku dh 

¼n½ fLol lafo/kku dh 

9. The strength of American Congress is .......... . 

vesfjdh dkaxzsl dh lnL;ksa dh la[;k 
--------------------

 gksrh gSA 

10. How many law lords are there in House of Lords ? 

ykWMZ lHkk esa fdrus dkuwuh lnL; gksrs gSa \ 

 

PS–03  40




